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And she should get married on Sunday — Nawa TN N2Im

OVERVIEW

X asked since the reason a 77302 is '7 01°% NRW1 is because of 2°71n2 nawv and
7"2 convenes on Mondays and Thursdays, she should be allowed to be married on
Sundays as well. The X713 answered that she is married on '7 21 because 2°2317 17pPWw
SR M2 nIpn 5y, Our MmpoIn discusses another answer to this question.

mMooIn responds to an anticipated difficulty:
- Bynna Hyany 519 595293 NNYIT HNIYY d¥a NY

The X3 did not want to answer (the question of nawa 'R2 xwim) that she is

married '72 in order that she will be '772 79¥23, which is preferable -
- (4,0 9m PAPY 1999873 *B9319 93 NIANIY N993 DIVN

On account of the blessing which was said by '77 to fish, as X75p 72 states later —

There is an additional difficulty:
- "n5993 ©IUN 1Y 9N Y1PYT BYL Y NNY N

And furthermore why do we need the reason of 7P to explain why the 72102 is

married '7 01°% and not '} 01°%, we can derive this ruling because of 7573, without
mentioning 17pW.

mooIn responds:
- N3999ay PN RDY NIV NYY RIN NN NI93T DYVT PNYY 13929 9NDIN)

And the °'"'1 says that the reason of 17292 is merely good advice, but he is not

considered a transgressor if he does not accept this advice and marries on 'x 01’ -
- 'N399929 %9910 119V BIUN Yax

' The X3 here explains that the 7202 marries '7 012 and not 'X 013, because the 020 were diligent in enacting
rules for the benefit of the Jewish daughters (that the 1nr will have three days to prepare a proper wedding feast).
? When the wedding takes place on Wednesday, the my» n°va can take place that night which is Thursday.
3 See 25,% WX that "7 blessed the fish on the fifth day of creation. 131 2°17 DX 1R911 12711719 MR? DPOX ONK 712,
* X19p 72 cited a Xn>12 that a 79102 is '72 nXwi and 72 NYy21 because the 2°37> 7272 was on 7. It is apparent (from
this Xn>»2) that 71272 is a sufficient reason to be married '7 212 for she will be 712 7921 (as opposed to 'R av).
> See “Thinking it over’.
% See footnote # 1.
7 mooin does not mean only 71973, because then they should marry 7 o1 for the 078> 7272 was said 1 o1a (see the
X713 there on &,77). Rather npon means we need only the reasons of °91n2 nivw (for either 'X or 1) and 77372 (to limit
it to '7 only), but there is no need to mention 17pw.
¥ Therefore since he is not an X372y, if 127 ¥°37 is on Sunday he is obligated to give her man, because his benefit of
the 77572 is not sufficient reason to exempt him from M.
? For this reason he is not obligated to give M, since he cannot marry now for he will be an x1»92v.
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However on account of 17pw he is considered a transgressor if he does not marry
"7 012 (and therefore does not spend the three days preparing the feast) —

Mmoo proves his point that 71372 is not a cause to consider him an X172¥ if he does not marry
'7 01%:

- Pisymn 89 URNYT 919N DIUN YaN N9 DIVMD RAYY MNT 5y ynuwn 19
And so too it seems later where the X3 infers from the Xn»93, saying; the
reason a 7212 is '72 nval is because of 17272, however if not for 7572 the 7%°va

could be '7 012, because we are not concerned for XnYT 5919P3NX. This concludes the
citation from the &723. M50 continues with his proof -

INIPIAY 291 XY P99 DIVNT INT NIN N NP3 NI
But what practical difference is there whether we are Xny7 >1pPKX? W or not,
for in any event she needs to be '172 n%va1 (because of 11972)?! Rather we must say
that there is a difference (whether the reason is because of 7272 or because of

XNYT "1PX), for on account of 71592 one is certainly not considered an 81993y, if

she is not '72 n%¥21, however if the reason is because of Xny7 >MPR, then he is considered an
N1°72Y.

SUMMARY

The reason of 71272 is merely good advice but he is not a transgressor if he does not
follow it; as opposed to the reasons of 17pw and 0°91n2 nivv, where he is considered
an N\1»72y.

THINKING IT OVER

Seemingly the two questions of n190I1N are exactly the same; why answer 17pw,
when you could answer 7972."* What is the difference between these two
questions?!"”

10 X,7. The &3 there queries whether the 7%°2 (of a '7 2% NRW1T 72102) needs to be 772 or it can be even '72.
1 xnyT *MpP°R (literally his mind will cool) means that if he does not go immediately to 7">2 (but there is a time
lapse), he will calm down and not report the 0°21n2 n1yv and may therefore live with his wife 10°K2.
12 The xn»a only mentions 2°377 7272 as a reason for 712 nN7¥21, but does not mention Xn¥7 >NIP°K, indicating that
(according to this Xn»12) we are not concerned for Xny7 *MP°K, and were it not for 2377 7572 there would be no
need to be 71 01" n%ya1 since he will eventually go to 7"2 even if it is a little bit later.
" The X3 is therefore saying that according to this Xn*"2 that the reason is only because of 71372 and not because of
XNYT PR, one will not be considered an X1»12y if she is '72 nYyal.
1 See footnote # 5.
15 See xa X"
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